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10.

11.

Deepak sells an item for I 555 and receives a profit of 11%. What will be his profit or loss
in case he sells the item for < 455 ?
(a) Profitof1% (b) Lossof2% (c) Lossof6% (d) Lossof9%

Rohit can complete a work in t hours. Due to some reason, he stopped working after 172
hours. Unfinished part of the work is :

2t 2t-3) (t—3) (2t—13)

@ 3 b) = © 5 @ =5
Eﬁﬁ.'
Find the missing terms : A, Z, X, B, V,T,C,R, , CIh
(@ P,D (b) EO () QE (d 0,Q
If ‘Q’ means ‘+’, ‘J” means ‘x’, ‘T’ means ‘—’, and ‘K’ means ‘=, then the value of
30K2Q3J6T5 is :
(a) 18 (b) 28 (c) 31 (d) 103
If p is a number such that 0 < p < 1, then which of the following is true ?
1 1

@ p<j (b) p*>p’ © p>\p @ p>7

Today is Varun’s birthday. After one year, he will be twice as old as he was 12 years ago.
What is the present age of Varun ?

(a) 20 years (b) 22 years (c) 25 years (d) 27 years

Sumit’s grandfather’s brother is the father of Hemant’s father. How is Sumit related to
Hemant ?

(a) = Brother (b) "Cousin (c). Father (d) Uncle

60 students were asked to choose their favourite sport. Following are the options chosen :
Football — 15, Cricket — 12, Swimming — 12, Basketball — 11, Athletics — 10.

The data is to be illustrated in a pie-chart. What angle should be used for football ?

(a) 15° (b) 60° (c) 90° (d) 180°

% 180 is stored in a box in the form of 1 rupee coins, 50 paise coins and 25 paise coins. The
ratio of the coins in the box is 2 : 3 : 4. The number of 50 paise coins is :

(a) 60 (b) 120 (c) 150 (d) 180

In the year 1979, Christmas day was celebrated on Tuesday. In which of the following
years, it was celebrated on the same day ?

(@) 1990 (b) 1986 (c) 1985 (d) 1984
If 5 is subtracted from both, the numerator and the denominator of a fraction, the value of

1
the fraction becomes > If 2 is added to both, the numerator and the denominator, the value

2 [®]

of the fraction becomes 3 The fraction is : ?ET%
14 5 15 12
@) 79 b 9 © 17 d 719
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e Toh 9% W1 T 555 H =R 11% T SATH HATA 2 | ATE I8 38 9% 1 X 455 7 o9 @1 38
Tepa < 3rer g1l Bt 2
(a) 1% (b) 2% & () 6% & () 9% &

Tifed foreft Sl =l t 912 § 0 o Tha & | ol o, 11 9 91e 36 il T 9 T
feam | e o1 Sre femm 2

2 2t-3 -3 23
(a) gt (b) tt ©) tzt () t2t
T UET <l T Y :

A,Z,X,B,V,T,C,R, ,

(@ P,D (b) E,O (0 QE d 0,Q

Ife Q> BT 3+, P HT G x°, ‘T 1 37 ‘) I K> &1 31Y = &, a9 30K2Q3J6T5
HIAMZ :

(a) 18 (b) 28 (c) 31 (d) 103 E}:’%
ol
FeprEEETsE YRR B 0<p <1, A FAfGREad o T a2 2
1 1
@ p<y (b) p*>p’ © p>p (@ p>3

TS T 1 FTGA 2 | Th oY 916, 98 HAT 12 T4 T8t hl Y I GTHT &l STRAT | IHeh!
I 3T TR ?

(a) 20ad (b) 2299 (c) 25ad d) 27@9
it o 1 1 9T, 39 b forar o1 frar @ | g, ara a A gefa @ 7
(a) Wi (b) ST TS (c) o (d) ==

60 BTAT ! TIT THEIGT @A T o Te1C el 7 | FH T foaehed e TR & & -

Heaicl — 15, Tohehe — 12, dTeh! — 12, ST&he ST — 11, ©@eTRe — 10

JTehel o UTS-aTE § Teiid T 7 | $eard o fora feramm o grm 7

(a) 15° (b)  60° ©) 90° d) 180°

Teh 50 W T 180 b1 T 1 o Torgeh, 50 98 o forareh qem 25 90 & fiees S w0 0 w7 fh MU 2 |
o T ToeRhi T ST 2 : 3 : 4 7 | 50 T4 < fani hi d@ & :

(@) 60 (b) 120 (c) 150 (d) 180
v 1979 H, foreme feae Tetar =l = e ot | Fefoiiaa ford o, g g 3et foq mamn ¢
(a) 1990 (b) 1986 (c) 1985 (d) 1984

Ifewh % SmaA A @ Smmaﬁfmwm%@m% | Ife 3797 9 S EHl

] 5[

ﬁzaﬁ@m,aﬁﬁmaﬂm%ﬁm%lﬁm%: Efﬁﬁ
14 1 12

@ 13 ®) 3 © 7 @ 5
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

If, in a certain code language, ‘GRASP’ is written as ‘BMVNK”, then the word ‘CRANE’
will be written as :
(a) XMVIZ (b XMVIA (c) FUDQH (d) HWEFSJ

If ‘book’ is called ‘watch’, ‘watch’ is called ‘bag’, ‘bag’ is called ‘dictionary’ and
‘dictionary’ is called ‘window’, which is used to carry books ?

(a) Window (b) Watch (c) Dictionary (d) Bag

If ‘= means ‘+’, ‘+’ means ‘X’, ‘=’ means ‘—’ and ‘X’ means ‘t’, then the value of 4
52+4+5%x8—-2will be : g :
(a) 624 (b)y 24 (c) 36 (d 51

A cyclist goes 30 km to the North and then turning to the East he goes 40 km. Again, he
turns to his right and goes 20 km. After this he turns to his right and goes 40 km. How far
is he from his starting point ?

(a) 25km (b) 40 km (c) 20km (d) 10km

In a class of 33 students, 20 play cricket, 25 play football, and 18 play volleyball; 15 play
both cricket and football, 12 play football and volleyball, and 10 play cricket and
volleyball. If each student plays at least one game, then the number of students who play
all three games is :

(@ 2 (b) 4 (© 7 (d 8

Pointing towards a person, Mohan said to a woman, “his mother is the only daughter of
your father”. How is the woman related to that person ?

(a) . Sister (b) Daughter (c)  Mother (d) Wife

I£246 * 2 =6, 870 * 3 =11, then the value of 735 * 5 is :
(a) 16 (b) 3 (¢) 5 (d 12

Truth and falsity are attributes of :
(a) Propositions (b) Arguments (c) Debates (d) Opinions

Find the odd one out :
(a) Moon — Planets (b) Sky — Stars Em
(c) Stadium — Players (d)  University — Students E{%

Find out the missing term : 275, 7Y7, 14X9, 23W11, 34V13,
(a) 27024 (b) 47015 (c) 45U15 (d 47Vi4

Which one does not belong to the group ?
(a) 122 (b) 326 (c) 224 (d) 337

Find the least value of ‘x’ so that the number ‘97468x4’ is divisible by 8.
(a) 2 (b) 3 (c) 4 (d 5

If the number A = 81 x 117 x 63 x 46 is divisible by 3°, then the maximum value of b is :
(@ 6 (b) 7 () 8 d 9

Series-A 4 SLK
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=fe ueh feerd e 9T H, ‘GRASP’ =1 ‘BMVNK’ foT@l SIiefl &, i1 91g “CRANE” =h fofn ST :
(@) XMVIZ (b) XMVIA (c) FUDQH (d) HWEFSJ

Ife ‘fpare’ & TS, L B T, T B ASCHIY qAT Veh bl Raghl’ war
ST, 1 fohdTe 3o | ferEen ST gIaT @ ?

(a) fagh (b) = (c) TG (d) s

FlG < HI AT =, 4+ HIACH x°, “+* HIACH " T % AR+ 8, @A
3w

52+4+5x 82 HIAFE : T

(a) 624 (b) 24 () 36 d 51

T ATgfohet Tar TR feum # 30 fopeft <retar 7, fbt & foum & geat 40 fortft Stran 2, g9 31
et 3T ggeht 20 Toret, <otar & | deavnd 319 SifeHT 3T ggeht 40 Toprt Srar B | 98 31
refeir famg & Rt g1 2 7

(a) 25 foprft (b) 40 feprft (c) 20 feprft (d) 10 feprft

33 BT < %A1 H, 20 B fhhe Tead 7, 25 Feaial aUT 18 drefiaicl Wetd 7 ; 15 fhohe wa
Bedid GHl @ad 7, 12 $eaid adl dreiad @ad 7, 10 fhehe Ta arefiaia @ed & | Afg

TR BT HH H T Wl % WAl &, a1 A1 el W dTel Bl ohl 661 8 —
(@) 2 (b) 4 (c) 7 (d) 8

g Ush S shl O IR hieh Teh Tl W hadl 7, “SHeH! AT, gran foar it v T 2 1
g B, 39 SAfed U for T TafRa 8 2

(a) & (b) g (c) = (d) el

e 246%2=6,870 3 =11, A 735* SHIAA & :

(@) 16 (b) 3 () 5 @ 12

eI 3R STH 013 -

(a) HWH (b) TH-fa@ss () dE-fEEH () YRWH
]%mqaﬁﬂﬁﬂ

(a) <A - TE (b) 3T - AR

(c) e —fgeret (d) Tervafaemer — fommeff
foqw ue 7 e -

275,7Y7,14X9, 23W11,34V13,

(a) 27024 (b) 47U15 (c) 45U15 (d) 47V14
@1, Tg § g T2 8 7

(a) 122 (b) 326 (c) 224 (d) 337

‘X ST =W W 1A hItTe IH b ST ©97468x4’, 8 € fawr=a 1 |

(a) 2 () 3 (c) 4 (d 5
M HEAT A = 81 x 117 x 63 x 46, 3° & ferefr B, a1 b 1 ferehan 44 2 - %ﬁ%
(a) 6 (b) 7 (c) 8 (d 9
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25.

26.

27.

28.

29.

30.

31.

When a number is divisible by 7, it gives 3 as remainder. Find the total possible numbers
of such type lying between 11 and 100.
(a) 14 (b) 12 (c) 15 (d) 18

Solve the following two lines number series and find the value of number d :
3,4,9, 26,69

E.:-E
5,6,a,b,c,d ?E%

(a) 91 (b) 95 ) 157 d) 160

If CBA + CCA = ACD, where A, B, C and D stand for distinct digits and D = 0, then the
value of A is :
(@ o0 (b) 4 () 5 d 9

You as a recruitment manager, are interviewing Mayank, a hardworking young man, who

has problem in speaking fluent English. Among the following options, what would you

choose to do, if your company has vacancies ?

(a) Iwould hire him at all costs.

(b) I would hire him for production or finance job but not for marketing job, which
requires good communication skill.

(c) I'would ask him to improve his communication skill and come back again.

(d) Iwould not hire him.

From each of the two given numbers, half of the smaller number is subtracted. Of the
resulting numbers, if the larger one is three times large as the smaller,one, what is the ratio
of two numbers ?

(a) 2:1 (b)  3:1

(c)  3:2 (d).  None of the above

Below is given a statement followed by two assumptions I & II. Decide which of the
following assumptions is/are implicit in the statement.
Statement : Provide mid-day meals to the children in primary schools to increase the
number of students attending school.
Assumptions : I: Mid-day meals will attract the children to school.
II : Those children who are otherwise deprived of good food will attend
the schools.
(a) Only Iis implicit. (b)  Only II is implicit.
(c) BothI & II are implicit. (d) Neither I nor II are implicit.

The following table shows the average monthly house-hold expenditure on different items
for a month :

Items Expenditure (in %)
Food 4500
Rent 1800 EuE
Education 650 E’%
Others 2400
To represent the data by percentage bar diagram, the portion for rent in the bar would be :
(a) 48.13% (b) 6.95% (c) 19.25% (d) 25.67%

Series-A 6 SLK
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29.

30.

31.
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S fopet e =t 7 @ Taamfora femam STt 8 A I9%et 3 UTd BIaT @ | 11 3R 100 & &= 3T
ATeAl 39 ThR i ol AUTIId T T4 hITTT |

(a) 14 (b) 12 (c) 15 d 18

FrfeTRad 1 fedal sl ST 2@ i & I 3R @1 d T HH AT I -
3,4,9,26, 69 g}ﬁ
5,6,a,b,c,d mt
(@) 91 (b) 95 (c) 157 d) 160

Ifg CBA + CCA=ACD, W&l A, B, C3M D e 3 B R D =08, MAFIAHR :
(@ O (b) 4 () 5 d 9

3T T Wl Ja9eh o &9 H, Teb B! Tagdeh HIeh, fSTEeh! GRITETE ST ol H TUE &,

T TAThR of & & | Al 3MTaeh! Bl § o ug &, af 31 ffeiRaa faepedt § & fopment

TAE HAT ?

(a) T 38 g hHd WM TG |

(b) T 38 Iaured A1 ford St ARt T TG, wAfehd fauom <t Hiedt & fore 78, fomes ferg
IS HATE HIIA h! IRl Bl & |

(c) H 3 IUHI FATE IVt U TR IH: T 3 b T g |

(d) H 38 Hm T @ |

4 TS < HETSA W Uk DI WEAT BT YT HET AT | GROmH Fenat § Ife 9t T
DI T T i T 9 2, S GEI13A BT ST F1 8 7
(@  2:1 (b) 3:1 (c) 3:2 (d) YUK | H IS T8l

F9 T HYA 3R 35 91¢ g & I@Enmd [ 3R 1S 8 8§ | Fofw fifse fe s it gg
AT / STEURUTE U9 | TdH{Ed & (2) |
U : e 31 Tt ferenfiar <61 e ¥ st & fore e foemer § a=it i qeanEd
TS TEH |
e ERME -1 : HEATE HioH & 5= ferermet™r it 37 S1rehftya & |
11 : 37<8 WioH ¥ afed s= 37 foramera § s |

(a) <hact | AdMETR | (b) Hact I FAAHEA S |
(c) 1TdIIgHl Faffea & | (d) 1Td I gH & 3Aafigd T & |
freforiga anferent, foret weia o fafir=y wel ® g9 9ol S7iad ATfies =] @< &1 gt @ -
e g X W)
T 4500 .
ST 1800 =
forem 650
3 2400
gfe stienel ol Ufawra eve faet gry esrian ST, 1 eve § fohtr™l <t Wt B -
(a) 48.13% (b)  6.95% (©) 19.25% d) 25.67%
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32.

33.

34.

3S.

From the four answer figures, choose the one which will continue the following figures :
/ / y /// .
Yavavav o
(a) /// (b) /// (©) // ) /
/ 7 7 7

On the basis of the following information, tell how many girls are tall ?

. Height
Children [ cdium | Short | Tall | %

Boys — — 20 —

Girls — — — 64

Total — 60 — —
* half the children are either tall or short.
* forty percent of the children are girls.
* one third of the boys are of medium height.
(@ O (b) 10
(c) 20 (d) cannot be determined

On the basis of following bar-diagram, tell, what is the percentage increase in the number
of movie theatres from 1960 to 1990 ?

30,0004 e
R 26,000
£ 250004 o
]
2 20,000+
s 15,000
5 15,0001
2 10,0004
E 6,000
Z 30001 2500
0 1
1960 1970 1980 1990 2000
Years
(@ 12% (b) 120% (c)  940% (d) 1300%

The following Bar diagram shows the population of Mumbai and Delhi (in thousands) in a
certain year. Number within brackets denote % of males in the given population.

(55)
12,500 (54)
8,400
E.:'E
Eh%
Mumbai Delhi

If 90% of males in Mumbai are literate and if 80% of females in Delhi are literate, then
ratio of number of illiterate males in Mumbai to number of illiterate females in Delhi is
close to :

(a) 0.89 (b) 0.32 ) 1.73 ) 0.61
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TR IR SR § § 9§ Teh T A1 (HHTIRad STeh{ai 1 568 TR @ -
Yavavaviid e
(a) //// (b) ///// (©) //// (d) ///

frfarftaa Sl & 3R W adr fop forat TTeferat @t @ 2

*e
e | em e | O
[GEC) - _ 20 -

TefeRat _ _ _ 64
F - 60 - -

° wﬁﬁmt—ﬁﬂﬁ%m@%%l

o AT yfd o= ASfRAT B |

o T [aTs IS 3Ed Hah & |

(@ 0 (b) 10

(c) 20 (d) STa &l TR ST weha

1 feu 11w 2ue FTeiE % FTUR W S drEd 6 1960 ¥ 1990 T Temde Ryuedi < e # foran
sfoerd Rl A 53 ?

30,000

L W 26000 [
25,000+ ]
g 20,0004
% 15000 15,000
E 10.0007 6,000
& 5000l 2500 |
0 1
1960 1970 1980 1990 2000
o
(@) 12% (b) 120% (c)  940% (d) 1300%
frefarfaa gug ster@ foredt oy i gg 3R feeeft <l SHEET (89K §) guiidT 2 | I8 &
ek SEEAT § qeNl o1 gfaerd gvitd § |
(55)
12,500 (54) m:m
8,400 E%

Files feet
afe g # 90% ToW FIeR B 3N feeeht & 80% Afear @new 2, ot grs # fawer gedi i
T 3 feeeft o Frer afgensii 1 de w1 Rebean s g -
(a) 0.89 (b) 0.32 © 173 d 0.6l
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36.

37.

38.

39.

40.

41.

42.

43.

44.

What will appear in place of question mark (?) shown below ?
LOM : NMK :: PKI: ?
(a) RIH (b) SHG (¢) RIG (d) RHG

Which letter is midway between the 21° letter from the right and the 16™ letter from the
left in the English alphabet ?
(@) J (b) K () L (d O

How many pairs of letters does the word ‘IMPERISHABLE’ contain such that the two
letters of a pair have as many letters between them in the word as in the alphabet and in the

same order ?
(a o0 (b)) 1 (c) 2 (d 3

In a code language, the following numbers are coded with the symbols given below :

Numbers: | 1 2 |3 14 |5 |6 7 18 |9 s
Symbols: |@ |# |S |% |~ |& |* |~ |+ T
Then the sum of ‘& % $’ and ‘+ * #’ in the code language is :
@ *+r@ () @n+n © &@*$ @ ~%#

The independence day was celebrated on Wednesday in the year 1988. On which day it
was celebrated in the year 1989 ?
(a) Monday (b) Tuesday (c) Thursday (d) Friday

In a certain code ‘BAKE’ is written as 5796 and ‘FIRE’ is written as 3146. How is ‘FEAR’
written in that code ?
(a) 3564 (b) 3574 (c) 3649 (d) 3674

%‘iﬁ

If the total number of students is 3000, then the number of students in section A and B
together is :
(a) 840 (b) 960 (c) 720 (d) 880

If 256 is coded as ‘you are good’, 637 is coded as ‘we are bad’ and 358 is coded as ‘good
and bad’, then the code of ‘and’ is :
(a) 6 (b) 2 (c) 8 (d 7

Find out the missing number :

9 (c) 10 d 13

Series-A 10 SLK
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= gt T TeaTEes g (?) % T U 9T 3TRAT 7 -
LOM : NMK :: PKI: ? '

(a) RIH (b) SHG ) RIG = (d) RHG
SIS SuTHTeAT § TR @ Sehige 318 3N SR § Hictad 3781 o o< H 9 91 378 g ?
(a) J ®) K © L d O

315 ‘IMPERISHABLE’ H 3781 & UF fehad Sie 8 S0 U SIe & &1 e & &= 3a+ &
& & o fop aofamen § s s shm 6 & 7

(@) 0 (b) 1 (c) 2 (d 3

T e v H, freferiad senst o 9 o T vt 3 @ gfed fhan mn g

AT 1 (213456789

efteh : @ | # |8 | % | A| &|F|~|+
FEWIH ‘& % $° 3+~ # HIAM R -

(a "t+"@ b @™+ ) &@*$ (d ~"%#
T 1988 H TAT fead GUAR 1 HHRT 1 4T | 99 1989 # ¥1g ford fem wamem mam o 7
(a) THER (b) TR (c) TEHfdER (d) IERAR

Ffe foreft ffeea e d ‘BAKE’ I 5796 f@d & a1 ‘FIRE’ i 3146 forad &, a1 36 %e |
‘FEAR’ &1 foh8 TehR foram 7
(a) 3564 (b) 3574 (c) 3649 (d) 3674

Ife BT <t oI TEAT 3000 BT, A AT A q5T 9T B H fetrent S0 61 @2 2 -

(a) 840 (b) 960 (c) 720 (d) 880

IfG 256 1 He 9T “you are good” &, 637 h1 FHe | ‘we are bad’ &, TUT 358 Fhi FHe |
‘good and bad’ 2, dl ‘and’ Eﬁ% T3

(@ 6 (b) 2 (c) 8 d 7

T T 1 hITIT :

9 (c) 10 d 13
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45.

46.

47.

48.

49.

50.

51.

52.

Arrange the following fractions in descending order :

2431
3°5°8°2
4 21 3 24 3 ]
@ 3.3.3-3 ®) 3.3.53
4 1 3 2 43 2 1
© 35.3:%:3 @ 3,533
The missing letter in the following is : LIFA |
B|G|L EE %L
C|H| M
G|L]|?
The ratio of volumes of two spheres, whose radii are in the ratio 1 : 2, is :
(@) 1:2 (b) 1:8 (c) 1:4 d 27

Three of the following four words are alike in a certain way and form a group. Which one
does not belong to this group ?
(a) Dear (b) Horse (c) Jackal (d) Giraffe

Study the different positions of a cube as given below. Which number will occur on the

(1) (i) (iii) (iv)
(@ 3 (b) 5 () 1 d 6
The following data gives the results of a sample survey of three categories A, B and C :
A |B |[C |[C |]A |B |A |B |C |C]A |[B |C |A |C
A |C|]A |B |C |A |B |C|C |C|C]|A |C |C |C
The percentage of elements in this sample belonging to the category B is :
(a) 30% (b) 20% (c) 50% (d) 40%

What is the number of squares in the following figure ?

%’Eﬁ

(@ 12 (b) 17
(c) 13 (d) None of these

A boy in rainy season while going to school takes one step forward but he has to take two
steps backward. How can he reach the school ?

(a) By using an umbrella (b) By means ofacycle

(c) By facing home and walking (d) By facing the school and walking

Series-A 12 SLK



45.

46.

47.

48.

49.

50.

51.

52.

SLK

2431
3°5°8°2

421 3 2 4 3 1 4132 4321
@ 3.3.32-3 ® 3.5.%.3 © 35.3:%:3 @ 5.3:3:3
Freferfaa & o s1em 2
B|G|L Cl0]
C|H[M ?E{ﬁ
G|L|?
(@ R (b) O (c) P d Q
Tl It Toreht Forsoml 1 : 2 % 379ma ® €, o 3TRIaH <1 37U & -
(@) 1:2 (by 1:8 (c) 1:4 d 2:7
FrefTRad =R wegl H & 14 fhEl T TR € HH § TUT Teh §Hg &9 & | SF 91 Th, 39
TIE T 4 8 & ?
(a) T&w (b) = (c) Tes @ fwrs

ﬁﬁm@mﬁ%@ﬁﬁmm@mﬁﬁqﬁmﬁﬂ%%ﬁﬁwmﬁ

85 G

() (i) (iii) (iv)
@ 3 (b) S ) 1
ﬁmﬁf\@ammaﬁﬁA,BHmc%mﬁm@qﬁaﬁHﬁw%ﬁm%
A[B|C|C|]A[B|JA|[B|[C|CJA[BJC|A]|C
AlclA|B]clA|[B|c|clc|clAa]c]|c]|cC

39 Yfdes # 97 B § Trag 374 b1 Tfawd 2 -
() 30% (b)  20% ) 50% d)  40%
fi= e 3 o= & 9t b g fopai 2 2

oo

(a) 12 (b) 17 (c) 13 (d) T G P &S
T TISeh! IN1 o HIGH § Thet SId §¢ Teh hed M S Tdl 8, W 34 gl el e i 3R oH
TS 3 | 98 31T THe Y U5 d Hehdll @ 7

(a) BTAT L (b) @SR gr

(c) EH IR Hg Hd g T W (d) TR HI IR HE Hleh T T
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53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

Read the following four statements and then answer who is not studying Geometry :
(1) Mohan and Sohan are studying Physics and English.

(2) Sohan and Rohan are studying Chemistry and English.

(3) Roshan and Mohan are studying Geometry and Physics.

(4) Rohan and Roshan are studying Chemistry and Geometry.

(a) Mohan (b) Sohan (c) Rohan (d) Roshan

If + stands for ‘division’, — stands for ‘equal to’, % stands for ‘addition’, + stands for
‘greater than’, = stands for ‘less than’, > stands for ‘multiplication’ and < stands for
‘subtraction’, then which of the following alternatives is correct ?

(a) 5x2<1-3<4x1 (b) 5>2x1-3>4<1 [

(c) 5<2x1+3>4x1 (d 5+2x1=3+4>1 ?ET%

In a group of seven boys, Ram is elder than Shyam but younger than Manohar who is not
the eldest boy. Shyam is not as young as Prem who is not the youngest. Mohan is younger
than four boys including Vivek and elder than the other boys. No information is available
about the age of remaining boy Dinesh. Who is the oldest boy among these seven boys ?

(@) Shyam (b) Ram (c) Dinesh (d) Vivek

If in a certain language ‘REMOTE’ is coded as ‘ROTEME’, which word would be coded
as ‘PNIICC’ ?

(a) NPIICC (b) PICCIN (¢) PICNIC (d) PINCIC
Find the missing number (?).

5193 7?5 6294

4 6 5
(a) 25 (b) 37 (c) 41 (d) 47

There are some benches in a class room. If 4 students sit on each bench, then 3 benches are
left unoccupied. However, if 3 students sit on each bench, 3 students left standing. Number
of students in the class is :

(a) 36 (b) 48 (c) 52 (d) 56

A and B can do some work in 15 days and 10 days, respectively. They began the work
together but A, after working 3 days, leaves the work and B finishes the remaining work.
For how many days B worked alone ?

(a) 8 (b) 5 (c) 3 d 2

How many trucks will carry 540 tons in 30 days, if each truck carries 3 tons per day ?
(a) 6 () 5 (c) 4 (d 3

The arithmetic mean of first eleven natural numbers is :

(@ 5 (b) 55 (c) 8 d o6 o
If38 +15=66 and 29 + 36 =99, then 82 + 44 =? Etﬁ
(a) 77 (b) 88 (c) 80 (d 94
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53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

SLK

i feu T TR ST i Ufeu 3R FqT3T foh i ST 1 7T TE @ @ ¢
(1) & 3R | Mifaehl aum 7Sl &1 IEREA R S |

(2) TIE 3R U WeH fos = T 3OS 1 A R | |

(3) TR 3R Hig= ST g sifdeshl &1 ARA R 2 |

(4) U 3TN e T foe qen senfifa 1 STerm R E |

(a) wred (b) Hred (c) Tred (d) T

Ife + 9T, — TS R, x A, + 3H B, = FA R, > I I < ‘TIH % ek &,
frfafed it a ST T 2 2 .

(a) 5x2<1-3<4x] (b) 5>2x1-3>4<1 Eﬁﬁ

() 5<2x1+3>4x] (d) 5+2x1=3+4>1

1A TTgeh! % T T 1 T, T § 981 difehd HHIgt & B1e1 7, S Gl sl T8 8 | 39, 39 &
BT T8 8, T a8 Biel T2l 7 | 7igd, foas afgd ar gl A Biel 8 G137 TS d 931 7,
$TH 9 I Th ASh (G131 <hl 3H o SR T hIg YT 3UcTed &l & | 3 91 IShi H & a4 F
HHR ?

(a) v (b)y T (c) ferm (d) foo=
¢ Teh foRIv WIS # ‘REMOTE’ %! ‘ROTEME’ & e fohart <iTat &, df fohd 918g ! ‘PNIICC’
e Topan SR 7
(a) NPIICC (b) PICCIN (c) PICNIC (d) PINCIC
T FEAT (?) 3T B |

7N /NN

4 6 5

(a) 25 (b) 37 (c) 41 d) 47

foreht e H o o @ | A 4 BT T o W aSd & A 3 < GIelt 1§ A1 & | SAfeh AfG 3 B
Tk oF T 43d & Al 3 B @S T A & | Ha § B 6l §&A 7 -

(a) 36 (b) 48 ) 52 d) 56

A 9 B Toreft & o1 shA9T: 15 9 10 feii § Q0 X Hehd 8 | 30 Teh A1 S AT TRy ke,
Topeg 3 et & e, A 9 % BT feam | 91w el 1 B A 9 56 | B 1 37het fera fem vt fopam 2

(a) 8 ) 5 @) 3 @ 2
3 o 9fd goh, Ufdfer = feama & 30 feai & foham 2o 540 27 amm QT 2
(@ 6 b 5 (c) 4 (d 3
T TIRE Tehicieh SIS o1 THIR WIed B -
(@) 5 (b) 5.5 ) 8 %ﬁ‘ﬁ @ 6
Ifg 38 + 15=66 329 +36=99 &, a1 82 + 44 = ?
(a) 77 (b) 88 ) 80 d) 94
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63.

64.

6S.

66.

67.

68.

69.

70.

%’Eﬁ

Which of the following represents the sequence in which the following words occur in the
English dictionary ?

(1) Telegraph  (i1) Telephone (iii) Teleprinter (iv) Telemark (v) Telepathy
(@) (@), (i), (iii), (iv), (v) (b)  (v), (iv), (iid), (i), (1)

(¢) (@), (iv), (v), (i1), (iii) (d) (@), (i), (iv), (v), (1)

How many rectangles of 36 cm perimeter can be drawn, given that sides are positive
integers in cm ?

(a) 8 (b) 9 ) 10 @ 11 gﬂ%

A man is facing South. He turns 135° in the anti-clockwise direction and then 180° in the
clockwise direction. Which direction is he facing now ?
(a) North-East (b) North-West (¢) South-East (d) South-West

A cube of edge 6 cm is painted on all faces of it. It is then cut into cubes of edge 1 cm.
How many cubes have no face painted ?
(a) 8 (b) o4 (c) 16 (d 24

A statement is given followed by two conclusions I & II. Decide which of the given
conclusions follows logically from the given statement :
Statement : Fortune favours the brave.
Conclusions : I : Risks are necessary for success.
IT : Cowards die many times before their death.
(@) Onlyl (b) OnlyII (c) BothIandII (d) Neither I nor II

If the budget of a country is presented as follows :

Income Tax Sales Tax

Excise and
Custom duty Miscellaneous
Then the angle for income tax on a pie-chart is :
(a) 118.8° (b) 120° (c) 117.6° (d 126°

Find the missing term in the following series :
1,1,3,9,6,36,10, 100, ,225
(a) 15 (b) 16 (c) 20 (d 25

For the shaded region, given below,

y=x

xt+ty=4

(0, 0)
Which of the following is correct ?
(@ x>0,y<x (b) x=0,y>x (c) x>0,y>x (d x>0,y>x
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63.

64.

65.

66.

67.

68.

69.

70.

e wregi o1 IS TechM H A AT HT R 7
(1) Telegraph  (ii) Telephone (iii) Teleprinter (iv) Telemark (v) Telepathy

(@ (1), (), (iii), (iv), (v) (b)  (v), (iv), (iid), (i1), (1)

() (), (iv), (v), (i), (iii) (d) (i), (iii), (v), (v), ()

36 G, TRETd 6t fohaT 3T i< S Tkt &, ATE YSITE GTeHe UTieh Hefl. &l 7
(a) 8 (b) 9 ) 10 d 11

Th ST Sfaur hi T g ik Wl & | 98 Tael 135° Tt <hi faadia foum o 3w fsx 180°
g f femdguar g | @ um Yg frm g a1 8 7
(@) IW-g@ (b)) IH-UEEH (o) <Ro-g (d) cRmr-ufem
Tk 6 Ul SR dTel T o G Teteh! sl U1 fearm e 2 | 36 1¢ 38 | Ui SR o1t =41 | e
fem e 2 | fopa w9 UE 2, Toreh 18 ofi heteh TR & 7
(a) 8 (b) 64 (c) 16 d) 24
Teh A 3T 37 &1 Ty [ wd 1] feuw T 8 | Fofa +ifSe o 6 @1 fshd fed 13 pem o
qfeheh ®Y T TERT HLAT B :
HYA : YT TG HT T a1 & | gﬁg
o1 : woperar  foru Sifge s/ 2 | b

11 : SRR 93 © U8t s TR I % |

(a) Had | (b) Hae Il (c) 1T IIgH (d) TFI T B B T
Ife foret 1 o oe <l 4 IohR & <3ien ST
forsht ¢
IBE S

3ed1G U

:\:ﬁm‘.ﬂ?‘f, fafaw
Al IS - 3TTe1E T 3T hT hI0T I
(a) 118.8° (b) 120° (c) 117.6° (d) 126°
frferiaa sraen § qw @@ F1d i -
1,1,3,9,6,36,10, 100, 225
(@ 15 (b) 16 ) 20 d) 25

it feu T3 oIR8 o foTg FfeTRad H 8 i w1 wEl 8 ?

(@ x>0,y<x (b) x=0,y>x () x>0,y>x (d x>0,y>x
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

If9*= % , then the value of x is :

(a)

wW N
w

(b 5 () 1 d 0

Two numbers B and C are respectively, 15% and 32% less than a third number A. By what
percentage is the number C less than the number B ?
(a) 23.5% (b) 22% () 20% (d) 18%

Four of the following five numbers are alike in a certain way and so form a group. Which
one does not belong to that group ?
22,26, 34, 46,72

(a) 22 (b) 34 (c) 72 (d) None of these
JN is related to which of the following in the same way as AE is related to DH ?
(a) GK (b) PR (c) OU (d MQ
1 i E
The value of ((0.000064)5j3 is : s
(a) 0.02 (b)y 0.2 (c) 0.002 (d) None of these
The volume of a cube is V. The total length of its edges is :
1 1
(a) &V (b) 120/V (c) 8V3 d 12V3
IF (Y 20 3q) (= y < 2pst 3) =(x —y+2p £3¢) (r*+ y=2p — 3q), then’y =2
p q 2p 3p
@ 5 ®) 3 © 3 @ 3
In the figure,
A B
E.:'El
b
C

the shaded region represents :
(a AuBUC b)) AuBNCO)
c) An(BNO) d AnBUO

Two trains, 130 m and 110 m long are going in the same direction. Faster train takes
1 minute to pass the other completely. If they move in opposite direction, they pass each
other in 3 seconds. Difference in the speeds of the trains is :

(a) 4 m/sec (b) 3 m/sec (c) 2m/sec (d) 1m/sec

At the rate of 10% compound interest per annum, in how many years, ¥ 1,000 will become
31,3317
(a) 2 (b) 2.5 (c) 3 (d 3.5
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

SLK

9
aﬁ9x=§,?ﬁxwm%:

wW N
w

(a) (b) 3 (¢) 1 (d 0

3 EEd B 9 C, fordt dad) S A 8 AT 15% a7 32% HH @ | B B 8 & C fohad
gioRrd A 2 ?

(a) 23.5% (b)  22% ()  20% d 18%
= & T8 uie wEsti # ¥ =R fRH TR § 3TEY § 9UT U TN SA 8 | i | T, 39
TEH AR @ ?
22,26, 34, 46, 72
(a) 22 (b) 34 ) 72 (d) 398 T BT TEl
frferiaa & feram IN 3 U Trafa 2 59 7R AE, DH @ qmfa 8 ?
(a) GK (b) PR (c) OU (d MQ
1 LI
((0.000064)§j3a51m:r%: =i
(a) 0.02 (b) 0.2 (c) 0.002 (d) 39U HE &
Topeft &1 BT ST V B | 36 hRI %1 ot oIS & -
(@) 8V b) 124V (©) gy d 12v3
R eyt 2p + 3q) (x— y=2p +34)= (x =y 2p— 3q) (r +y=2p = 3q), A=
p q 2p 3P
@ ) © 34 @ 7
o= # wrfrd &7 e s g
A B

C

(@ AUBUC (b) AUBNC) () AnBNC) (d ANBUC)
130 1. 3R 110 =, orwsft < Termisat weh & fown 3 S @€ | ot & S areft et gad
Yot 1 1 firte § oR R et @ 1 e 3 fordia foem SIS A we gt 1 3 Fehe F AR SRt
2 | termfeat < =i o SR R

(a) 4. (b) 3HLA. (c) 2#.A. (d) 1#.A.
10% STk =hglg ST 31 L & fohe AWl 1, 1,000, T 1,331 1 SRAT 7
(a) 2 (b) 2.5 (c) 3 d 3.5
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Passage for Comprehension :
Read the following passage carefully and answer the questions (from 81 to 83) given below :

Self-directed learning, in its broadest meaning, describes a process in which individuals take the
initiative with or without the help of others, in diagnosing their learning needs, formulation of
learning goals, identifying resources for learning, choosing and implementing learning strategies
and evaluating learning outcomes. Thus, it is important to attain new knowledge easily and
skillfully for the rest of his or her life.

What is the need for self-directed learning ? One reason is that there is convincing evidence that
people, who take the initiative in learning, learn more things and learn better than people waiting
to be taught. The second reason is that self-directed learning is more in tune with our natural
process of psychological development; an essential aspect of maturing is developing the ability
to take increasing responsibility of our own lives to become increasingly self-directed. The third
reason is that many of the new developments in education put a heavy responsibility on the
learners to take a good deal of initiative in their own learning. To meet the challenge of today’s
instructive environment, self-directed learning is most essential.

E.:-E
81. Which word best describes self-directed learning ? E{%
(a) Active learning (b) Passive learning
(c) Compulsory learning (d) Repulsive learning

82. The modern environment, according to the author, is
(a) Restrictive (b) Instructive
(c) Less developed (d) Impracticable

83.  Thereis a need for self-directed learning because
(a) Itisless challenging.
(b) It helps people to learn more things and learn better.
(c) It is a more cost-effective method.
(d) Itis less time — consuming.

84. Choose the correct word for the phrase :
“Government by one person”
(a) Plutocracy (b) Oligarchy (c) Autocracy (d) Theocracy

85. Choose the correct passive form of the given sentence from the choices given below :
‘The Romans expected to conquer Carthrage’.
(a) Carthrage expected Romans to conquer.
(b) The Romans are conquered Carthrage.
(c) It was expected by the Romans that they would conquer Carthrage.
(d) It is expected to conquer Carthrage.

Eﬁﬁ.'
86. Choose the correct synonym of the word ‘Competition’. =
(a) Fight (b) Contest (c) Legal (d) Competence

87. What can be an appropriate meaning of the word ‘Slumber’ ?
(a) Disease (b) Action (c) Sleep (d) Deep
Series-A 20 SLK



T TEAT 88 H 100 Teh HHITCTREd TSI < YR W =l I8 T T o ST G
Jrafea e

Tk TS 1 31T Teh HREhideh 9XRR BT &, T8eh o T 98 WM o 9 T STER BIal
&A1 8 | AHa I H 310 Sia ol 31 gama, 3w, i 3T STH=equl S ST = Ll
TET ® | 39 AT 1 YR 98 TiEhieh Ye 8l 2, S Jeieh vt o fomwa &9 | fierdt 2 3i 5@
TATH % HAETET A 3701 foehd HTdl & | H SN ST 3TN H&hid i Th & A 8 | I8 IFhl
NS B | AT A1 TEpld 3T qYan # ufse gery g, fohg S%hfa AMa Sie #1918 T 3=1d s
TIEATS T T 8, 3R TIAT I AT o BoRa®d IUcied g Siia JUTTel! b1 A1 8 | 98Il o
IR H F& It foaRaR Sl §H GEh{d g Thd & | Thid 38! 91 g4 & Gehd & | Tpe Tsg i
AT I HoATh B IHeh! HER{d o STUR T HL Hhd 8 | TIeh USE ! HER(d F&I shl WRTITeTh
gftferfoai o R 2 | el 1 AT Sited ot Tt i § ST AEeyl g1 Bl § |

88.  TorHl Trsg <l W¥AAT o HeaTeh 1 IR &

(a) SEE % (b) WHfd
(c) hell =l (d) GEHfa

89. frafissgaug ?

(a) ~ EEHid I EH | (b) . TrT 3 FEHfa

(c) = S 3R el H (d). a3 St A
90. Rl FATR ?

(a) 3Tt Sfae JorTed!

(b)  Sfta = Ifequt S 1 S=TE
(c) |G SaA i 953 Td I~Td S bl HIEFTST T A1
(d) gEHE vd I Sfeq wgfa

91. THe Sfta utfera s H fepereht meweyul g1 e B 7
(a) &Pl AT (b) el
(c) Wi T (d) AT

92. ‘Wi g H YT FaTST |
() fo b) T Em
ol

(© ¥ (d) &M
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93, ‘forroa’ wieg fopm Soft 18 7

(a) dEH (b) dgHd
() & (d) ferceft
94. I 1 I ‘Wi’ k1 GATIATN A& B ?
(a) 3Hfd (b) HAXYH E}ﬁ
(c) M (d) foafa o

95. ‘HMd’ I GITEETE] 9d1gU |
(a) A (b)
(c) I (d)

96. ‘Gl 1 Ysa1d B

(a) HEpid (b)
(c) Sfad Jorrett (d)

97. ‘oA w1 |- -faeee Hifs |

44 % 34

(a) AT + A (b)

(€) « Hed + Tk (d)
98. ‘HEaqUl’ o faudiard fefem |

(a) HERIEA (b)

(c) HfaHE (d)

99.  IWer TR T I Ik B

(a) @1 ST HEHIA (b) Wbt 3 AT
(c) HIEHidH gUe (d) Trsg fmfor
100. <18 ¥t Trse fendeh ot U ITfd o 9 W SWER BIAT 8 7
(a) STehdh H¥IGT (b) Hriferes feufa
(c) Wi TR (d)  Sfre e
Clj=10]]
ELn
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